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RIER D FRIR XIS E

HX3—2 BEYIERTHERESNSHRICHTHBE/1) EEEER I 224E
AEMBONE | Bmas 71041005 | ETE3 \ 73 PG il A
SERMOTIHICHEEST 51 SERHRA
ﬁiﬁi TREDOBBDEILNOKRES TREDHBESSLNOKRES TREDBBOEILNOKRES TREDHRBEEILNOKRES
B2 N ‘e |TDLOER| ADKEE| o o |TRODOKE| BE [AORES = 2 BE | LWOLOLE [NORES| 5 . |LHASOLE] BS [NOAZE
(m) (m) (KN/ i) EE R (m) (m) (KN/ ) (m) (m) (kN/rri) (m) (m) (kN/ i)
: 100kN/miZ#8x 5| 100|000 ~ 323 151.76 |mz#BZ 5000 ~ 019|311 15.69 |100kN/ % 8% 3| 1.00 | 1056 ~ 2874 | 15176 |mEBZ 3| 2500 ~ 2874 | 3.11 15.69
Zhust 1.00 1323 ~ 1r02|  100.00 | #Fhst [0.19 ~ 11.02] 5.00 15.16 FhList 100|500 ~ 1056 | 100.00 | #Fnst | 5.00 ~ 2500 5.00 15.16
9 100kN/mM##82 3| 1.00 (000 ~ 1.12 116.94 |3nE#BZB| 0.00 ~ 0.49 | 5.59 17.15 | 100kN/miZEBZ 5| 1.00 | 16.16 ~ 22.40 116.94 |3mE#BZ B| 20.00 ~ 22.40 | 3.39 17.15
ZhList 100112 ~ 891 100.00 | #huist 049 ~ 891 3.00 15,16 ZhList 1.00] 5.00 ~ 1616| 100.00 | #hList | 5.00 ~ 20.00| 3.00 15,16
3 100kN/mMZ#Bx 5| 100|000 ~ 0.94 114.10 |m%EHBZ 3 -~ - - -|100kN/ %82 3| 1.00 | 1295 ~ 1644 11410 |ImEEZ B -~ - - -
Zhust 1001094 ~ 873 100.00 | Fhust lo.oo ~ 873|278 14.04 Fh st 100|500 ~ 1295| 100.00 | #nus | 5.00 ~ 1644| 2.78 14.04
4 100kN/mM%#82 5| 1.00 000 ~ 085 112.70 |3n%E8 % % -~ - - ~|100kN/ #8235 | 1.00 | 10.55 ~ 13.02 112.70 |3n&EHEZ D -~ - - -
ZhList 1.0010.85 ~ 863 100.00 | huist 000 ~ 863|220 11.14 ZhList 1.00] 5.00 ~ 1053| 100.00 | #hList | 500 ~ 1302 2.20 11.14
5 100kN/mi%#8 2 % - -~ - -|mzHEz % -~ - - -|100kN/ i £#8 % % - -~ - -|mz#Ez 3 -~ - - -
Zhust 1.0010.00 ~ 6.20 77.88 | #hus ooo ~ 620 1.98 10.00 Fh st 100|500 ~ 803 77.88 | #nupst [ 500 ~ 803 1.98 10.00
100kN/mM%#8 % % ~ IMEBZD ~ 100kN/ M %% % ~ MEBZDB ~
ZhList ~ ZhList ~ ZhList ~ FhList ~
100kN/mi%#8 2 % ~ K i b ~ 100kN/mM %% % ~ MEBZD ~
ZhnLst ~ ZhnLst ~ ZhList ~ ZhList ~
100kN/mMZ#8 % % ~ IMEBZD ~ 100kN/ M Z#B % % ~ NEBZB ~
ZhList ~ ZhList ~ ZhList ~ FhList ~
100kN/mi%#8 2 % ~ K i b ~ 100kN/mM %% % ~ MEBZD ~
ZhnLst ~ ZhnLst ~ ZhList ~ ZhList ~
100kN/mMZ#8 % % ~ IMEBZD ~ 100kN/ M %% % ~ NEBZB ~
ZhList ~ ZhList ~ ZhList ~ FhList ~
100kN/mi%#8 2 % ~ K i b ~ 100kN/mM %% % ~ MEBZD ~
ZhnLst ~ ZhnLst ~ ZhList ~ ZhList ~
100kN/mMZ#8 % % ~ IMEBZD ~ 100kN/mM %% % ~ NEBZB ~
ZhList ~ ZhList ~ ZhList ~ FhList ~
100kN/mi%#8 2 % ~ K i b ~ 100kN/mM %% % ~ MEBZD ~
ZhnLst ~ ZhnLst ~ ZhList ~ ZhList ~
100kN/mMZ#8 % % ~ IMEBZD ~ 100kN/mM %% % ~ MEBZDB ~
ZhList ~ ZhList ~ ZhList ~ FhList ~
100kN/mi%#8 2 % ~ K i b ~ 100kN/mM %% % ~ MEBZD ~
Zn Lot ~ Z st ~ Z st ~ Z st ~




